
Dataset: Iris Flower dataset
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tStudent(49) = 17.66, p = 6.93e−23, gHedge = 2.46, CI95% [1.92, 3.04], nobs = 50

Species: virginica

loge(BF01) = −45.50, δmedian
posterior = −1.59, CI95%

HDI  [−1.76, −1.39], rCauchy
JZS  = 0.71

(iii)
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loge(BF01) = −10.38, ρmedian
posterior = 0.30, CI95%

HDI  [0.19, 0.41], rCauchy
JZS  = 0.71

tStudent(258) = 5.20, p = 4.02e−07, rPearson = 0.31, CI95% [0.19, 0.41], npairs = 260

genre: Comedy
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loge(BF01) = −45.11, ρmedian
posterior = 0.45, CI95%

HDI  [0.37, 0.52], rCauchy
JZS  = 0.71

tStudent(426) = 10.38, p = 1.19e−22, rPearson = 0.45, CI95% [0.37, 0.52], npairs = 428

genre: Drama
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tStudent(79) = −6.33, p = 1.38e−08, ρ% bend = −0.58, CI95% [−0.71, −0.41], npairs = 81

Cylinder count: 4
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tStudent(77) = −5.23, p = 1.41e−06, ρ% bend = −0.51, CI95% [−0.66, −0.33], npairs = 79

Cylinder count: 6
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tStudent(68) = 1.02, p = 0.312, ρ% bend = 0.12, CI95% [−0.12, 0.35], npairs = 70

Cylinder count: 8



Elf

I Heart Huckabees

Jake's Booty Call

Meet the Parents

Mighty Aphrodite

Wag the Dog

Zero Effect

80

100

120

0 20 40
budget

le
ng

th

tStudent(5) = 0.84, p = 0.439, rPearson = 0.35, CI95% [−0.55, 0.87], npairs = 7

Genre: Comedy
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tStudent(14) = 2.67, p = 0.018, rPearson = 0.58, CI95% [0.12, 0.84], npairs = 16

Genre: Drama

All movies have IMDB rating equal to 7.
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tStudent(18) = −3.90, p = 0.001, gHedge = −0.86, CI95% [−1.40, −0.34], npairs = 19

order: 0

loge(BF01) = −3.56, δmedian
posterior = 0.24, CI95%

HDI  [0.10, 0.39], rCauchy
JZS  = 0.71
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tStudent(14) = −1.58, p = 0.136, gHedge = −0.39, CI95% [−0.91, 0.12], npairs = 15

order: 1

loge(BF01) = 0.32, δmedian
posterior = 0.07, CI95%

HDI  [−0.03, 0.18], rCauchy
JZS  = 0.71
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